
&DVWHOODQ]D��� H�� ',&(0%5(�����&(1752�(6326,=,21,��%8672�$56,=,2�



x /XRJR�GL�6YROJLPHQWR�x 3DGLJOLRQH�FHQWUDOH��&HQWUR�(VSRVL]LRQL���%8672�$56,=,2���LQ�YLDOH�%255,�D��&$67(//$1=$��9$���IDFLOPHQWH�UDJJLXQJLELOH�GDOO
XVFLWD�&$67(//$1=$�VXOOD��$��0LODQR�/DJKL�
x 3URJUDPPD�x &HULPRQLD�GL�DSHUWXUD�6DEDWR���',&(0%5(�DOOH�RUH������x 6ILODWD�GHOOH�%DQGLHUH�H�&RQIDORQL�GHOOH�6RFLHWjx $O]DEDQGLHUD�H�,QQL�1D]LRQDOLx ,QL]LR�JDUD��6DEDWR� ��',&(0%5(�DOOH�RUH������x 7HUPLQH�'RPHQLFD� ��',&(0%5(�DOOH�RUH������x 3UHPLD]LRQH�'RPHQLFD� ��',&(0%5(�DOOH�RUH������
x 5HJRODPHQWR�x *DUD�SHU�6TXDGUH�GL�WUH�WLUDWRUL�D����PHWUL�VX�EHUVDJOL�/DV�9HJDV��$QFKH�SHU�L�&RPSRXQG�YDOH�LO����JUDQGH�GHOO
2OLPSLFR�x 'XH�PLQXWL�SHU�WUH�IUHFFH��VHFRQGR�UHJRODPHQWR�),7$��FRQ�XQ�VROR�WLUDWRUH�SHU�VTXDGUD�LQ�SLD]]ROD��,�FRPSRQHQWL�GHOOD�VTXDGUD�SRVVRQR�DOWHUQDUVL�FRPH�SUHIHULVFRQR��DQFKH�WUD�XQD�IUHFFLD�H�O
DOWUD�x 1LHQWH�IUHFFH�GL�SURYD��QLHQWH�UHFXSHUL�x *LRFKL�YDUL�GL�DUFR�FRPH�XQLFL�LQWHUYDOOL�
x &ODVVL�DPPHVVH�x $UFR�2OLPSLFR�5LFXUYR�),7$��DQFKH�PLVWH�x $UFR�&RPSRXQG�),7$�DQFKH�PLVWH�x $UFR�1XGR�),7$��DQFKH�PLVWH�x $UFR�5LFXUYR�&DFFLD�H�/RQJ�%RZ�),$5&���DQFKH�PLVWH��x *LRYDQL�$UFR�2OLPSLFR�ILQR�D����DQQL��DQFKH�PLVWH�x $OWUH�VTXDGUH�VH�LVFULWWH�LQ�PLQLPR�GL����QHOOD�&ODVVH�R�'LYLVLRQH���LQGLFDUH�OH�&ODVVL�R�'LYLVLRQL�VSHFLILFKH�VXO�PRGXOR�GL�LVFUL]LRQH�x 3HU�IDFLOLWDUH�OD�IRUPD]LRQH�GHOOH�VTXDGUH��RJQL�VTXDGUD�SRWUj�HVVHUH�FRPSOHWDWD�GD�FRPSRQHQWL�SURYHQLHQWL�GD�DOWUH�6RFLHWj��SXUFKp�FRQ�OD�VWHVVD�GLYLVD�x 6L�DFFHWWDQR�DQFKH�OLVWH�GL�DWWHVD�GL�SHUVRQH�VLQJROH�GLVSRVWH�D�SDUWHFLSDUH�QHO�FDVR�YHQJD�ORUR�WURYDWR�DOPHQR�XQ�FRPSDJQR�x 2JQL�6RFLHWj�SXz�LVFULYHUH�XQ�QXPHUR�LOOLPLWDWR�GL�VTXDGUH��HG�RJQL�VTXDGUD�SXz�WLUDUH�FRQ�XQD�GHQRPLQD]LRQH�VSHFLILFD�H�FRQ�XQD�GLYLVD�GLYHUVD�
x 6HUYL]L�'LVSRQLELOL�x 6DOD�ULSRVR�SHU�GRUPLUH���SRUWDUVL�PDWHUDVVLQL�R�EUDQGLQH�x 7DYROD�&DOGD�H��%DU�VX����RUHx $PSLR�SDUFKHJJLR�SHU�&DPSHU�H�5RXORWWH��DFFHVVLELOH�VROR�SHU�OD�QRWWH�GHO���'LFHPEUH�x $OEHUJKL�D�SRFKL�PLQXWL�G
DXWR��YHGL�HOHQFR�x 0XVLFD�FRQWLQXD�H�VRUSUHVH�YDULH



x 3UHPL�x 5LFRUGR�GL�SDUWHFLSD]LRQH���SLQ��H�PDJOLHWWD�D�FLDVFXQ�WLUDWRUH�x 3UHPL�6SHFLDOL�DO�PLJOLRUH�&RQIDORQH�6RFLHWDULR�HG�DOOD�6TXDGUD�FRQ�OD�GLYLVD�SL��EHOODx 3UHPL�PLQLPL ����D��D��D��D��D���D���D���D���D��HFF���XOWLPD��VTXDGUD�2OLPSLFR�H�&RPSRXQG���D��D��D��VTXDGUD�*LRYDQL�H�$UFR�1XGR���D��D��D�VTXDGUD�/RQJ%RZ�%RZKXQWHU�SL��SUHPL�VSHFLDOL�SHU�L�JLRFKL��H�3UHPLR�DOOD�SULPD�6RFLHWj���SXQWL�WRWDOL�QHOOH�WUH�&ODVVL�2OLPSLFR��&RPSRXQG�H�*LRYDQL���x 0RQWHSUHPL��FRQ�YDORUH�FRPPHUFLDOH�GL�ROWUH�¼����������FRQ�SUHPLR�SHU�FLDVFXQ�PHPEUR�GHOOH�VTXDGUH�SUHPLDWH�x 3UHPL�LQ�SURGRWWL�(OHWWURQLFL��GL�$UFLHULD�TXDOL��$UFKL��0LULQL��7HOHYLVRUL���LPSLDQWL��+L�)L���HG�DOWUL�RJJHWWL�GL�YDORUH�
x 4XRWH�GL�,VFUL]LRQH�x 3HU�LVFUL]LRQL�FRQIHUPDWH�HQWUR�LO����2WWREUH������x 6TXDGUH�2OLPSLFR��&RPSRXQG��$UFR�1XGR���¼���������¼�������SHU�WLUDWRUH�VH�PHQR�GL���QHOOD�VTXDGUD�x 6TXDGUH�*LRYDQL�2OLPSLFR�����¼��������¼��������SHU�WLUDWRUH�VH�PHQR�GL���QHOOD�VTXDGUD�x 3HU�,VFUL]LRQL�FRQIHUPDWH�GDO���1RYHPEUH�����x 6TXDGUH�2OLPSLFR��&RPSRXQG��$UFR�1XGR���¼���������¼�������SHU�WLUDWRUH�VH�PHQR�GL���QHOOD�VTXDGUD�x 6TXDGUH�*LRYDQL�2OLPSLFR���¼��������¼�������SHU�WLUDWRUH�VH�PHQR�GL���QHOOD�VTXDGUD�x /H�,VFUL]LRQL�QRQ�VRQR�DQQXOODELOL�GRSR�LO����1RYHPEUH�H�OH�TXRWH�GL�LVFUL]LRQH�VDUDQQR�FRPXQTXH�GRYXWH�x /H�TXRWH�GL�LVFUL]LRQH�YDQQR�YHUVDWH�SHU�WXWWH�OH�VTXDGUH�LVFULWWH�D�FXUD�GHOOD�6RFLHWj�GL�LVFUL]LRQH��DQWLFLSDWDPHQWH�R�DOO¶DFFUHGLWDPHQWR��SUHIHULELOPHQWH�D�PH]]R�DVVHJQR��LQ�(XUR�LQWHVWDWR�D��&$0�� &RPSDJQLD�$UFLHUL�0RQLFD��*DOODUDWH��$VVHJQL�LQ�/LUH�,WDOLDQH�R�DOWUH�YDOXWH�121�YHUUDQQR�DFFHWWDWL��

0DVVLPR�����VTXDGUH��3UHQRWDWH�VXELWR���
$OEHUJKL�6XJJHULWL��
0RWHO�3$*2'$ 9LD�(GLVRQ���� /(*1$12 7HO�����������������PW�GDO�FHQWUR (VSRVL]LRQL SHULIHULD�GL�/HJQDQR�H�&DVWHOODQ]D
9,//$�(/,6$%(7+ 9LD�6DURQQR��� &$67(//$1=$ 7HO���������������.P�GDO�FHQWUR�(VSRVL]LRQL SHULIHULD�GL�/HJQDQR�H�&DVWHOODQ]D
+RWHO�$6725,$ 9LDOH�'XFD�G¶$RVWD����� %8672�$56,=,2 7HO���������������.P�GDO�&HQWUR�(VSRVL]LRQL LQ�FHQWUR�D�%XVWR�$UVL]LR
$OEHUJR�0$==,1, 3LD]]D�0DQ]RQL��� %8672�$56,=,2 7HO����������������������.P�GDO�&HQWUR�(VSRVL]LRQL�������LQ�FHQWUR�D�%XVWR�$UVL]LR
+RWHO�(63$f$ 9LD�%RFFDFFLR����� %8672�$56,=,2 7HO���������������.P�GDO�&HQWUR (VSRVL]LRQL FRQILQH�WUD�%XVWR�$UVL]LR�H�&DVWHOODQ]D



3HU�,VFUL]LRQL�
&$0�� &203$*1,$�$5&,(5,�021,&$F�R�9LWWRULR�)5$1*,//,9LD�)��)LO]L����������*$//$5$7(�9$
7HO��������������)D[�������������(�PDLO��DHIFDP#WLQ�LW,QWHUQHW��KWWS���ZZZ�DUFR�IUHFFH�FRP�FDP���RUH�KWP
,O�3URJUDPPD�GHOOD�FRPSHWL]LRQH�q�VX�,QWHUQHW�x LQ�,WDOLDQR�D��KWWS���ZZZ�DUFR�IUHFFH�FRP�FDP���K��S�KWPx HQ�)UDQoDLVH�D��KWWS���ZZZ�DUFR�IUHFFH�FRP�FDP���K��SI�KWPx DXI�'HXWVFK��KWWS���ZZZ�DUFR�IUHFFH�FRP�FDP���K��SG�KWPx LQ�(QJOLVK�DW�KWWS���ZZZ�DUFR�IUHFFH�FRP�FDP����K��SH�KWP


